Appendix



1.6dB Bandwidth

Test Mode | Test Channel Ant 6dB Bandwidth [MHz] Limit(MHz) | Verdict
11B 2412 Antl 9.008 =0.5 PASS
11B 2437 Antl 9.020 =0.5 PASS
11B 2462 Antl 8.800 =0.5 PASS
11G 2412 Antl 15.664 =0.5 PASS
11G 2437 Antl 15.632 =0.5 PASS
11G 2462 Antl 15.088 =0.5 PASS

11N20SISO 2412 Antl 15.660 =0.5 PASS
11IN20SISO 2437 Antl 15.056 =0.5 PASS
11IN20SISO 2462 Antl 14.972 =0.5 PASS
11N40SISO 2422 Antl 27.520 =0.5 PASS
11IN40SISO 2437 Antl 35.448 =0.5 PASS
11IN40SISO 2452 Antl 35.024 =0.5 PASS
11IN20SISO 2412 Ant2 15.764 =0.5 PASS
11IN20SISO 2437 Ant2 15.092 =0.5 PASS
11N20SISO 2462 Ant2 15.080 =0.5 PASS
11IN40SISO 2422 Ant2 27.520 =0.5 PASS
11IN40SISO 2437 Ant2 35.112 =0.5 PASS
11N40SISO 2452 Ant2 35.032 =0.5 PASS
11IN20MIMO 2412 Antl+2 15.712 =0.5 PASS
11IN20MIMO 2437 Antl+2 15.484 =0.5 PASS
11IN20MIMO 2462 Antl+2 15.100 =0.5 PASS
11N4OMIMO 2422 Antl+2 35.072 =0.5 PASS
11N40MIMO 2437 Antl+2 33.832 =0.5 PASS
11N4OMIMO 2452 Antl+2 31.248 =0.5 PASS
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